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F /2019

Review - Part 2
Solving Systems of Equations

Expanding & Simplifying
Quadratic Relations

Jan 31-2:27 PM

The solution to a linear system is the point (x,y) where the
lines intersect.

Three methods to solve:
1. Graphically
2. By substitution
3. By elimination

Ex.1 Substitution: Solve 3x-y=2andx=y-2

Ex.2 Elimination: Solve 5x + 2y =5 and 3x -4y =-23

MHx3: ISx +lu =15 Ze-Uy=-23
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Ex.1 Substitution: Solve 3x-y=2andx=y-2

Sub the x-value from the second equation into the first equation
@3%—3=2 @ 'yzj-z_
sub @ b @)

35—6_%:2_ = 2
W76 =2 ptih i

2%% - 3 (2,0)
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Ex.2 Elimination: Solve 5x + 2y =5 and 3x - 4y =-23

(Dx2: lox +4y = /O
@ : 3x -uy =-23

odht | 5x = -3
X =-
sub x=-1 Lo DR @)

g(“\ \-2\3=§
-C +2\5:§‘ oo Soludion §

2u =(9 (—l,'s‘)

Match coefficients of the x-term or y-term, then add or subtract equations
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Expanding two binomials
(a) distributive property

(a@+d)
= ac+d) + b(crd)
= ac +ad + ber bd

Feb 1-7:13 PM

Expanding two binomials
(b) distributive property (using FOIL)

(a+b)(c+d) Eiret
= ac +ad +be +LA  Duwdes
Inner

Last
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Expanding two binomials

(c) area model

(@+b)c+d) = oc +ad+ be +bd
o +b
¢ | ac | Le
+d | ad | bd

(3x 429 +5)(2x “1y)
S ‘\'?E’_\ -\*g
2x | b2y o

i
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Ex.1 Expand each of the following:
(@) (x+4)(2x-3)

(b) (2x-3)
= 2’xz-§'x +Fx—12 (77"371
:2’X2+§'x—ll =(2x—‘$>(?’x‘?>
= Ux®-bx bx +9
= Yn* -2x +9
(€) Bx-2y)(x+5y) -
=3x %+ 13x4—D
] 3 x + S
3% |3x*
-25 A

(d) 32x—-5y)(2x+5y)
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Homework:

p.29 # 1acf, 2ace
p.31 # 8ac, 9a¢E) 104e)

p.33 # 11ace, 12ace, 13@

Tomorrow's Work:

p.3 # 4odd, 50dd, 6odd

Feb 1-7:30 PM
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F.33 12 ¢ e

(C) ’2'(76%{7(74—?)1 I-S‘|(’Z x—l)('x*é?

) N

_ 2
= x"-2x =24 y\ox? +<SS% -3o

= " 43y -5y
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12€) 2(m-3)(m-4) =2 (mrs)"
= 2(m-3m-9) =2 (Mt $)(ontS)

2("’\1"7'& 4—'7—> ~2(m" +lom +23‘>

\

= 2m” —(4m +24 -3m" —30m 1%

Il

M —4ym -5 |
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